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1. The position of a particle moving along X-axis

depends on time according to equation

x = at2 + bt3, where x is in meter and t in

seconds. What are the dimensions of a and b?

(1) LT–1, L (2) LT–2, LT–3

(3) L, L2 (4) T2, T3

2. A mass is whirled in a circular path with a

constant angular velocity and its angular

momentum is L. If the string is now halved

keeping the angular velocity same, the angular

momentum is :

(1) L/4 (2) L

(3) 2L (4) L/2

3. A physical quantity P is related to four

observables a, b, c and d as follows : P = 
3 2a b

c d
.

The percentage errors of measurement in a, b,

c and d are 1%, 3%, 4% and 2% respectively.

What is the percentage error in the quantity P ?

(1) 8% (2) 13%

(3) 12% (4) 2%

4. A solid cylinder of mass M and radius R rolls

down an inclined plane without slipping. The

speed of its centre of mass when it reaches the

bottom is : (h is the height of inclined plane)

(1) 2gh (2) 
4

gh
3

(3) 
3

gh
4

(4) 4g / h

5. The initial and final temperature of water as

recorded by an observer are (40.6 ± 0.2)ºC and

(78.3 ± 0.3)ºC. Calculate the rise in temperature

with proper error limits.

(1) (37.7 ± 0.5ºC) (2) (37.7 ± 0.1ºC)

(3) (118.9 ± 0.5ºC) (4) 28ºC

1. x-
x = at2 + bt3 
x   t  a b  


(1) LT–1, L (2) LT–2, LT–3

(3) L, L2 (4) T2, T3

2. 
L 



 

(1) L/4 (2) L

(3) 2L (4) L/2

3. P 

 :  P = 
3 2a b

c d
.

a, b, c d 1%, 3%,

4% 2% P 


(1) 8% (2) 13%

(3) 12% (4) 2%

4. M R 
 
   
h :

(1) 2gh (2) 
4

gh
3

(3) 
3

gh
4

(4) 4g / h

5.         
    (40.6 ± 0.2)ºC 
(78.3 ± 0.3)ºC.      
    

(1) (37.7 ± 0.5ºC) (2) (37.7 ± 0.1ºC)

(3) (118.9 ± 0.5ºC) (4) 28ºC

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

      
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6. A wheel is rotating at 900 rpm about its axis

when the power is cut off. It comes to rest in

one minute. The angular retardation (assuming

it to be uniform) in radian/sec2 is:

(1) /2 (2) /4

(3) /6 (4) /8

7. According to dimensional analysis, which is

the incorrect statement ?

(1) Gravitational force + Electric force

(2) Acceleration due to gravity + acceleration

due to electric force

(3) Gravitational field intensity + Electric field

intensity

(4) Gravitational field intensity × Electric field

intensity

8. A uniform solid sphere rolls on a horizontal

surface at 20 ms–1. It then rolls up an incline

having an angle of inclination at 30º with the

horizontal If the friction losses are negligible,

the value of height h above the ground where

the ball stops is :

(1) 14.3 m (2) 28.6 m

(3) 57.2 m (4) 9.8 m

9. The ratio of surface tension to viscosity

coefficient can be represented by the

dimensions of :-

(1) Acceleration (2) Angular velocity

(3) Impulse (4) Velocity

10. A circular platform is mounted on a vertical

frictionless axle. Its radius is r = 2m and its

moment of inertia is I = 200 kg-m2. It is initially

at rest. A 70 kg man stands on the edge of the

platform and begins to walk along the edge

at speed 
0
 = 10m/s relative to the ground. The

angular velocity of the platform is :

(1) 1.2 rad/s (2) 0.4 rad/s

(3) 2.0 rad/s (4) 7 rad/s

11. An electron starting from rest, has a velocity

v that increases linearly with time t so that

v = kt, where k = 2m/s2. Find the distance

covered by it in the first three seconds.

(1) 18 m (2) 9 m

(3) 6m (4) 4 m

6. 900 
1  

   

(1) /2 (2) /4

(3) /6 (4) /8

7. 



(1) + 

(2)   +  



(3)    +   

(4)    ×   

8. 20 

30º 



h 



(1) 14.3  (2) 28.6 

(3) 57.2  (4) 9.8 

9. 

    

(1)  (2)  

(3)  (4) 

10. 
(Axle)    (Mounted)   
r = 2 I = 200 

  70  



10
 = 1.0 

   
(1) 1.2 / (2) 0.4 /
(3) 2.0 / (4) 7 /

11. 
v t v = kt 
k = 2 m/s2    


(1) 18 m (2) 9 m

(3) 6m (4) 4 m
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12. A tap can be operated easily using two fingers

because :

(1) the force by one finger overcomes friction

and other finger provides the force for

operation

(2) the rotational effect is caused by the couple

formed

(3) the force available for the operation will

be more

(4) this helps application of angular forces

13. A car starting from rest has a speed of 30 km/hr

at any one instant. Two second later, its speed is

36 km/hr and 2 second after that it is 42 km/hr.

What is the acceleration in m/s2?

(1) 
25

m /s
6

(2) 3 m/s2

(3) 10 m/s2 (4) 6 m/s2

14. A flywheel of mass 50 kg and radius of gyration

about its axis of rotation of 0.5 m is acted upon

by a constant torque of 12.5 N-m, Its angular

velocity at t = 5 sec is :

(1) 2.5 rad/sec (2) 5 rad/sec

(3) 7.5 rad/sec (4) 10 rad/sec

15. A lift is coming from 8th floor and is just about

to stop 4th floor. Taking ground as origin and

positive direction upwards for all quantities,

which one of the following is correct?

(1) Velocity (–), Acceleration (+)

(2) Velocity (–), Acceleration (–)

(3) Velocity (+), Acceleration (+)

(4) Velocity (+), Acceleration (–)

16. Two uniform, thin identical rods each of mass

M and length  are joined together to form a

cross. What will be the moment of inertia of

the cross about an axis passing through the point

at which the two rods are joined and

perpendicular to the plane of the cross ?

(1) 
2M

12


(2) 

2M

6



(3) 
2M

4


(4) 

2M

3



12. 

(Opearate)    

(1) 





(2)   

(3)  

(4)   

13. 
30 km/hr       
36 km/hr   2    
42 km/hr   m/s2    

(1) 
25

m /s
6

(2) 3 m/s2

(3) 10 m/s2 (4) 6 m/s2

14.     50  
    0.5  
12.5   
 t = 5     
(1) 2.5 / (2) 5 /
(3) 7.5 / (4) 10 /

15. 8th 4th 


     
(1)  (–),  (+)

(2)  (–),  (–)

(3)  (+),  (+)

(4)  (+),  (–)

16. M 
(Cross) 
(point of joint) 



(1) 
2M

12


(2) 

2M

6



(3) 
2M

4


(4) 

2M

3



  Key Filling      
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17. Find the angle between the vectors ˆ ˆ ˆ(i 2 j 3k) 

and ˆ ˆ(2i j)  :-

(1) 0º (2) 120º

(3) 90º (4) 60º

18. Three particles of masses 1kg, 2kg and 3 kg

are situated at the corners of an equilateral

triangle of side b. The coordinates of the centre

of mass are :

(1)
7b 3 3b

0, ,
12 12

 
 
  

(2) 
3 3b 7b

, ,0
12 12

 
 
  

(3) 
7b 3 3b

, ,0
12 12

 
 
  

(4) 
7b 3 3b

,0,
12 12

 
 
  

19. One of the rectangular components of velocity

of 80 km/hr is 40 km/hr. The value of other

component (approx) :-

(1) 40 km/hr (2) 20 km/hr

(3) 70 km/hr (4) 30 km/hr

20. A body of weight 2 kg is suspended as shown

in the figure. The tension T
1
 in the horizontal

string (in kg wt) is :-

(1) 2 / 3                 
30°

T1

2kg-wt

(2) 3 / 2

(3) 2 3

(4) 2

21. A particle starts from the origin at t = 0 sec,

with a velocity of 10 ĵ  m/s and moves in the

x-y plane with a constant acceleration of

2ˆ ˆ(8i 2 j)m /s . Then at what time x-coordinate

of the particle is 16 m.

(1) 3 sec (2) 4 sec

(3) 2 sec (4) 6 sec

22. The kinetic energy of a body is decreased by

19% what is the percentage loss in momentum :-

(1) 10 % (2) 20 %

(3) 30 % (4) None

17.  ˆ ˆ ˆ(i 2 j 3k)    ˆ ˆ(2i j)  



(1) 0º (2) 120º

(3) 90º (4) 60º

18. 1  2  3   b
 (Equilateral) 
 

(1)
7b 3 3b

0, ,
12 12

 
 
  

(2) 
3 3b 7b

, ,0
12 12

 
 
  

(3) 
7b 3 3b

, ,0
12 12

 
 
  

(4) 
7b 3 3b

,0,
12 12

 
 
  

19. 80 km/hr 40 km/hr 
   

(1) 40 km/hr (2) 20 km/hr

(3) 70 km/hr (4) 30 km/hr

20. 2 kg  
T

1
 () :-

(1) 2 / 3                 30°
T1

2kg-wt

(2) 3 / 2

(3) 2 3

(4) 2

21.  t = 0 sec 10 ĵ  m/s 

 2ˆ ˆ(8i 2 j)m /s  

x-y   

x-16 m  

(1) 3 sec (2) 4 sec

(3) 2 sec (4) 6 sec

22. 19% 

(1) 10 % (2) 20 %

(3) 30 % (4)  

Use stop, look and go method in reading the question
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23. The component of a vector r
  along x-axis will

have maximum value if :-

(1) r


, is along +y-axis

(2) r


, is along +x-axis

(3) r


 makes angle angle of 45º with x-axis

(4) r


, is along –x axis

24. A bullet of mass 20 g is fired from a rifle with
a velocity of 800 m/s. After passing through a
mud wall 100 cm thick, velocity drops to
100 m/s. What is the average resistance force
of the wall :-
(1) 6300 N (2) 12600 N
(3) 1000 N (4) None

25. The displacement-time graph of a body is

shown in figure. The body is accelerated along

the path :-

x

C

D

tO

A

B

(1) OA only (2) BC only

(3) CD only (4) OA and CD both

26. An engine develops 10 KW of power. How

much time will it take to lift a mass of 200 kg

to a height of 40 m ?

(1) 4 sec. (2) 5 sec.

(3) 8 sec. (4) 10 sec.

27. A stone is projected in air. Its time of flight

is 3 sec and the range is 150 m. The horizontal

component of velocity of projection of the

stone is : (g = 10 m/s2)

(1) 22.5 m/s (2) 15 m/s

(3) 30 m/s (4) 50 m/s

28. A force of (5 + 3x)N acting on a body of mass

20 kg along the x-axis displaces it from x = 2m

to x = 6m. The work done by the force is :-

(1) 20 J (2) 48 J (3) 68 J (4) 86 J

29. A 500 kg car takes a round turn of radius

50 m with a velocity of 36 km/hr. How much

centripetal force is required?

(1) 100 N (2) 1000 N

(3) 500 N (4) 200 N

23.  r


 x-
 
(1) r


,  y- 
(2) r


, +x- 
(3) r


  x- 45º  
(4) r


, x  

24. 20 g 100 cm 800 m/s 

100 m/s 



(1) 6300 N (2) 12600 N

(3) 1000 N (4)  

25. 
     

x

C

D

tO

A

B

(1) OA  (2) BC 
(3) CD  (4) OA CD  

26.  10 KW 200 kg

40 m 
 ?
(1) 4 sec. (2) 5 sec.

(3) 8 sec. (4) 10 sec.

27. 
3 sec  150 m   
 ?
(g = 10 m/s2)

(1) 22.5 m/s (2) 15 m/s

(3) 30 m/s (4) 50 m/s

28. 20 kg  (5 + 3x)N, 
x-x = 2m  x = 6m. 
 :-
(1) 20 J (2) 48 J (3) 68 J (4) 86 J

29. 500 kg  50 m    
36 km/hr. 
?
(1) 100 N (2) 1000 N

(3) 500 N (4) 200 N
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30. If shown system is released

from rest, find the work done

by tension force on block B in

first one second. (g = 10 m/s2)

(1)
200

J
9

(2) 16 J

2kg

3kg

A

B

(3) 24 J (4) 36 J

31. A ball is dropped from the top of a very high

building. Estimate the magnitude of the

acceleration of the ball right after it's collision

with the ground in m/s2.

(Assume collision is perfectly elastic & do not

neglect air resistance and g = 9.8 m/s2)

(1) 9.8 m/s2 (2) zero

(3) 19.6 m/s2 (4) None

32. A mass of 1 kg is just able to slide down the

slope of an inclined rough surface when the

angle of inclination is 60°. The minimum force

necessary to pull the mass up the inclined plane

is :-

(g = 10 m/s2)

(1) 14.14 N (2) 17.32 N

(3) 10 N (4) 16.66 N

33. A spring with one end attached to a mass and

other to a rigid support is stretched and

released. Choose the correct statement.

(1) Magnitude of acceleration, when just

released, is maximum

(2) Magnitude of acceleration, when at

equilibrium position, is maximum

(3) Speed is maximum when mass is at

equilibrium position

(4) Option (1) and (3) are correct

34. If the potential energy between electron and

proton at a distance r is given by 

2

3

ke
U

3r

 
  

 
.

the law of force is

(1) 
2

2

ke
F

r
 (2) 

2

4

3 ke
F

4 r
 

(3) 
2

4

ke
F

r
  (4) 

2ke
F

r


30. 
B

(g = 10 m/s2)

(1)
200

J
9

(2) 16 J

2kg

3kg

A

B

(3) 24 J (4) 36 J

31. 

m/s2 



(

 g = 9.8 m/s2)

(1) 9.8 m/s2 (2) zero

(3) 19.6 m/s2 (4) None

32. 1 kg 
60° 

 

 :-

(g = 10 m/s2)

(1) 14.14 N (2) 17.32 N

(3) 10 N (4) 16.66 N

33. 


 

(1) 


(2) 

(3)        


(4)  (1)  (3)  

34. r  


2

3

ke
U

3r

 
  

 
 -

(1) 
2

2

ke
F

r
 (2) 

2

4

3 ke
F

4 r
 

(3) 
2

4

ke
F

r
  (4) 

2ke
F

r
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35. A river is flowing due east with a speed

3m/s. A swimmer can swim in still water at a

speed of 4m/s. It swimmer swims due north,

what will be his resultant velocity (magnitude)?

(1) 1 m/s (2) 7 m/s

(3) 4 m/s (4) 5 m/s

36. A car of mass 'm'  is driven with acceleration

'a' along a straight level road against a constant

external resistive force 'R'. When the velocity

of the car is 'V', the rate at which the engine

of the car is doing work will be-

(1) RV (2) maV

(3) (R + ma) V (4) (ma – R)V

37. The wheel of an automobile is rotating with

4 rotations per sec. Find its angular velocity?

(1) 8  rad/sec (2) 25.12 rad/sec

(3) 
32

rad /s
4
 (4) All of above

38. A ball collides head on with another stationary

ball with double of its own mass with a velocity

of 1.5 m/s (Fig.). If the coefficient of resolution

is 0.6 then after the collision their velocities will

be-

u1 v1 v2

u =02

m m
2m 2m

Before Collision After Collision

(1) – 0.1 m/s. & 0.8 m/s

(2) 0.8 m/s. & 0.1 m/s

(3) 0.1 m/s. & 8 m/s

(4) 8 m/s. & 0.1 m/s

39. If the time of flight of a projectile is doubled,

what happens to the maximum heights attained?

(1) halved

(2) Remains unchanged

(3) Doubled

(4) Becomes four times

35.  3m/s 
4m/s 



(1) 1 m/s (2) 7 m/s

(3) 4 m/s (4) 5 m/s

36. 'm'  'R' 

'a' 

'V' 



(1) RV (2) maV

(3) (R + ma) V (4) (ma – R)V

37. 4 
 ?

(1) 8  rad/sec (2) 25.12 rad/sec

(3) 
32

rad /s
4
 (4) 

38. 1.5 



0.6 



u1 v1 v2

u =02

m m
2m 2m

Before Collision After Collision

(1) –0.1 0.8 

(2) 0.8 0.1 

(3) 0.1 8 

(4) 8 0.1 

39. 


(1) 

(2)  

(3) 

(4)  



16–03–2013

8/37 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

40. The block of mass M moving on the frictionless

horizontal surface collides with the spring of

spring constant k and compresses it by length

L. The maximum momentum of the block after

collision is-

(1) Mk L         

M

(2) 
2kL

2M

(3) zero

(4) 
2ML

k

41. A particle is moving along a circular path with

uniform speed. Through what angle does its

angular velocity change when it completes half

of the circular path?

(1) 0º (2) 45º (3) 180º (4) 360º

42. A uniform chain of length 2 m is kept on a

table such that a length of 60 cm hangs freely

from the edge of the table. The total mass of

the chain is 4 kg. What is the work done in

pulling the entire chain on the table

(1) 7.2 J (2) 3.6 J

(3) 120 J (4) 1200 J

43. The horizontal range of a projectile is 4 3

times its maximum height. Its angle of

projection will be :-

(1) 45º (2) 60º (3) 90º (4) 30º

44. One end of massless rope, which passes over a

massless and frictionless pulley P is tied to a hook

C while the other end is free. Maximum tension

that the rope can bear is 840 N. With what value

of maximum safe acceleration (in ms–2) can a man

of 60 kg climb on the rope?

(1) 16

(2) 6

(3) 4

•

C

P

(4) 8

45. When forces F1, F2, F3 are acting on a particle

of mass m such that F2 and F3 are mutually

perpendicular, then the part icle remains

stationary. If the force F1 is now removed then

the acceleration of the particle is-

(1) F1/m (2) F2F3/mF1

(3) (F2 – F3)/m (4) F2/m

40. M 

k 

L 



(1) Mk L    
M

(2) 
2kL

2M

(3) 

(4) 
2ML

k

41. 

          
 ?
(1) 0º (2) 45º (3) 180º (4) 360º

42. 2m 

60 cm 

4 kg 

-

(1) 7.2 J (2) 3.6 J

(3) 120 J (4) 1200 J

43. 

4 3  
(1) 45º (2) 60º

(3) 90º (4) 30º

44. (C) 

P 

840 

60 


(1) 16

(2) 6

(3) 4      

•

C

P

(4) 8

45. F1, F2, F3, m 

F2  F3 

F1 

 

(1) F1/m (2) F2F3/mF1

(3) (F2 – F3)/m (4) F2/m
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46. log 
p

c

K

K
 + log RT = 0

is a relationship for the reaction :-

(1) PCl
5
  PCl

3 
+ Cl

2

(2) 2SO
2
 + O

2
  2SO

3

(3) H
2
 + I

2
  2HI

(4) N
2
 + 3H

2
  2NH

3

47. If 500 ml of a gas A at 1000 torr and 1000 ml

of gas B at a 800 torr are placed in a 2 lit

container, the final pressure will be :-

(1) 100 torr (2) 650 torr

(3) 1800 torr (4) 2400 torr

48. Which among the following is not favourable

for SO
3
 formation :-

2SO
2
(g) + O

2
(g)  2SO

3
(g) H = – 45 kcal

(1) High Pressure

(2) High Temperature

(3) Decreasing SO
3
 concentration

(4) Increasing reactant concentration

49. 50 ml of each gas A and of gas B takes 150

and 200 seconds respectively for diffusing

through a pin hole under the similar condition.

If moleculer mass of gas B is 36.  The

molecular mass of A will be :-

(1) 20.25 (2) 64 (3) 96 (4) 128

50. A solution is a mixture of 0.05 M KCl and

0.05 M NaI. The concentration of Ī  in the solution

when AgCl just starts to precipitate is equal to:-

[K
sp(AgCl)

 = 10–10 M2 ., K
sp(AgI)

 = 4 × 10–16 M2)

(1) 4 × 10–6 M (2) 2 × 10–8 M

(3) 2 × 10–7 M (4) 8 × 10–15 M

51. The compressibility factor of a gas is less than

unity at STP therefore. :-

(1) Vm > 22.4 lit (2) Vm < 22.4 lit

(3) Vm = 22.4 lit (4) Vm = 44.8 lit

52. The conjugate base of [Al(H
2
O)

3
(OH)

3
] is :-

(1) [Al(H
2
O)

3
(OH)

2
]– (2) [Al(H

2
O)

3
(OH)

2
O]¯

(3) [Al(H
2
O)

3
(OH)

3
]¯ (4) [Al(H

2
O)

2
(OH)

4
]¯

53. The radius of a divalent cation m2+ is 94 pm

and of divalent anion X–2 is 146 pm. Thus mx

has :-

(1) Rock salt (NaCl) structure

(2) Zinc blende structure

(3) Antifluorite structure

(4) bcc (CsCl) structure

46. log 
p

c

K

K
 + log RT = 0

:-
(1) PCl

5
  PCl

3 
+ Cl

2

(2) 2SO
2
 + O

2
  2SO

3

(3) H
2
 + I

2
  2HI

(4) N
2
 + 3H

2
  2NH

3

47. A, 500 ml 1000 torr 
B, 1000 ml 800 torr 
2 lit :-
(1) 100 torr (2) 650 torr

(3) 1800 torr (4) 2400 torr

48. SO
3
       :-

2SO
2
(g) + O

2
(g)  2SO

3
(g) H = – 45 kcal

(1) 

(2)  

(3) SO
3
   

(4) 

49. A B, 50 ml

150  200 sec

B 36 A

:-

(1) 20.25 (2) 64 (3) 96 (4) 128

50. 0.05 M KCl 0.05 M NaI 
AgCl 
 I¯    :-
[K

sp(AgCl)
 = 10–10 M2 ., K

sp(AgI)
 = 4 × 10–16 M2)

(1) 4 × 10–6 M (2) 2 × 10–8 M

(3) 2 × 10–7 M (4) 8 × 10–15 M

51. STP 
:-
(1) Vm > 22.4 lit (2) Vm < 22.4 lit

(3) Vm = 22.4 lit (4) Vm = 44.8 lit

52. [Al(H
2
O)

3
(OH)

3
]   :-

(1) [Al(H
2
O)

3
(OH)

2
]– (2) [Al(H

2
O)

3
(OH)

2
O]¯

(3) [Al(H
2
O)

3
(OH)

3
]¯ (4) [Al(H

2
O)

2
(OH)

4
]–

53. m2+ 94 pm  
X–2 146 pm mx 

(1) (NaCl) 

(2) 

(3) 

(4) bcc (CsCl) 

Take it Easy and Make it Easy
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54. Which solution will have pH closer to 1.0 :-

(1) 100 ml of 
M

10

 
   HCl + 100 ml of 

M

10

 
   NaOH

(2) 55 ml of 
M

10

 
   HCl + 45 ml of 

M

10

 
   NaOH

(3) 10 ml of 
M

10

 
   HCl + 90 ml of 

M

10

 
   NaOH

(4) 75 ml of 
M

5

 
 
 

HCl + 25 ml of 
M

5

 
 
 

NaOH

55. The tetrahedral voids formed by ccp

arrangement of Cl– ions in rock salt structure

are:-

(1) Occupied by Na+ ion

(2) Occupied by Cl– ion

(3) Occupied by either Na+ or Cl– ions

(4) Vacant

56. In which of the following combinations is

buffer action expected :-

(a) NH
3
+  NH

4
Cl

(b) HCl + NaCl

(c) NH
3
 + HCl in 2 : 1 mole ratio

Select the correct answer using the code given

below:

(1) a and b (2) a and c

(3) b and c (4) a, b and c

57. CsBr has 'bcc' structure with edge length 4.3Å.

The shortest inter ionic distance in between Cs+

and Br– is :

(1) 3.72 (2) 1.86 (3) 7.44 (4) 4.3

58. Which of the following solution can be titrated

with HCl as well as NaOH using suitable acid

base indicator :-

(1) Glycine (2) Pyruvic acid

(3) Triethylamine (4) Amine

59. The dissolution of CaCl2.6H2O in large volume

of water is endothermic to the extent of 3.5 kcal

mol–1 for the reaction :-

CaCl2(s) + 6H2O() CaCl2.6H2O(s)

H = –23.2 kcal hence heat of solution of

CaCl2 (anhydrous) in a large volume of water

is :-

(1) 26.7 kcal (2) –26.7 kcal

(3) 19.7 kcal (4) –19.7 kcal

54.  pH 1.0    :-

(1) 100 ml of 
M

10

 
   HCl + 100 ml of 

M

10

 
   NaOH

(2) 55 ml of 
M

10

 
   HCl + 45 ml of 

M

10

 
   NaOH

(3) 10 ml of 
M

10

 
   HCl + 90 ml of 

M

10

 
   NaOH

(4) 75 ml of 
M

5

 
 
 

HCl + 25 ml of 
M

5

 
 
 

NaOH

55. Cl– ccp 



(1) Na+ 

(2) Cl– 

(3) Na+ Cl– 

(4) 
56.   :-

(a) NH
3
+  NH

4
Cl

(b) HCl + NaCl

(c) NH
3
 + HCl in 2 : 1 mole ratio

  :

(1) a  b (2) a  c

(3) b  c (4) a, b  c

57. CsBr   4.3Å   'bcc'  
  Cs+  Br–     
 
(1) 3.72 (2) 1.86 (3) 7.44 (4) 4.3

58. HCl 
NaOH 
  :-
(1) Glycine (2) Pyruvic acid

(3) Triethylamine (4) Amine

59. CaCl2.6H2O  

         

3.5 Kcal mol–1 
CaCl2(s) + 6H2O() CaCl2.6H2O(s)

H = –23.2 kcal CaCl2 


(1) 26.7 kcal (2) –26.7 kcal

(3) 19.7 kcal (4) –19.7 kcal

      
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60. pH of a mixture containing 0.10 M X¯(base)

and 0.20 M HX(Salt of X¯) is : (pkb (X¯) = 4):-

(1) 4 + log 2 (2) 4 – log 2

(3) 10 + log 2 (4) 10 – log 2

61. Reaction H2(g) + Cl2(g) 2HCl + 44 kcal.

Calculate heat of formation of HCl :-

(1) –44 kcal mol–1 (2) –22 kcal mol–1

(3) –11 kcal mol–1 (4) –88 kcal mol–1

62. A
2(g)

 + 4B
2(g)

  2AB
4(g)

 H < 0, favourable

condition for formation of AB
4
:-

(1) Low temperature, high pressure

(2) High temperature & low pressure

(3) Low temperature, low pressure

(4) High temperature, High pressure

63. If B  A ; H = x

2

3
B  C ; H = y

D  C ; H = z

than calculate H for the reaction: 2A  3D

(1) 2x + 3y + 3z (2) –2x – 3z + 3y

(3) –2x – 3y – 3z (4) 2x + 3z – 3y

64. 1.5 mole each of A, B, C, D are present at

equilibrium in 500 ml container. If each species

is made 0.5 mole at equilibrium, the K
C
 is :-

(1) 1 (2) 10 (3) 
1

9
(4) 

1

5

65. The entropy of the universe :-

(1) Increasing and tending towards maximum

value

(2) Decreasing and tending to be zero

(3) Remains constant

(4) Decreasing and increasing with a periodic

rate

66. NO
(g)

 + 
1

2
O

2(g)
 1k  NO

2(g)

2NO
2
 2k  2NO + O

2

k
2
 & k

1
 are related as :-

(1) 2

1

1
k

k
 (2) 

1
2

k
k

2


(3) 2 2
1

1
k

k
 (4) k

2 
= k

1
2

67. The total entropy change for a system and its

surroundings increases, if the process is :-

(1) Reversible (2) Irreversible

(3) Exothermic (4) Endothermic

60. 0.10 M X¯ () 0.20 M HX (X¯ )
 pH  : (pkb (X¯) = 4):-

(1) 4 + log 2 (2) 4 – log 2

(3) 10 + log 2 (4) 10 – log 2

61. H2(g) + Cl2(g) 2HCl + 44 kcal, HCl

(1) –44 kcal mol–1 (2) –22 kcal mol–1

(3) –11 kcal mol–1 (4) –88 kcal mol–1

62. A
2(g)

 + 4B
2(g)

  2AB
4(g)

 H < 0, AB
4 
 

  
(1)    
(2)    
(3)    
(4)  

63.  B  A ; H = x

2

3
B  C ; H = y

D  C ; H = z

2A  3D H 
(1) 2x + 3y + 3z (2) –2x – 3z + 3y

(3) –2x – 3y – 3z (4) 2x + 3z – 3y

64. A, B, C, D 1.5 
        0.5    
(V = 500ml) K

C
   

(1) 1 (2) 10 (3) 
1

9
(4) 

1

5

65. 

(1) 

(2) 

(3) 

(4) 

66. NO
(g)

 + 
1

2
O

2(g)
 1k  NO

2(g)

2NO
2
 2k  2NO + O

2

k
2
  k

1
   

(1) 2

1

1
k

k
 (2) 

1
2

k
k

2


(3) 2 2
1

1
k

k
 (4) k

2 
= k

1
2

67. 

(1)  (2) 
(3)  (4) 
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68. 2SO
2
 + O

2
  2SO

3
 initially 4 moles each of

SO
2
 & O

2
 are present, at equilibrium 25% O

2

is used. Total moles at equilibrium are :-

(1) 6.5 (2) 7.0 (3) 8.0 (4) 2.0

69. The heat of reaction at constant volume for an

endothermic reaction in equilibrium is 1200 cal

more than at  constant pressure at 300K.

Calculate the ratio of equilibrium constants Kp

and Kc:-

(1) 16.48 × 10–3 (2) 1.648 × 10–3

(3) 164.8 × 10–3 (4) 0.1648 × 10–3

70. Van't Hoff factors of aqueous solutions of X,

Y, Z are 1.8, 0.8 and 2.5. Hence, their (assume

equal concentrations in all three cases) then

correct order is :-

(1) B.P. : X < Y < Z

(2) F.P. : Z > X > Y

(3) Osmotic pressure : X = Y = Z

(4) Vapour pressure : Y > X > Z

71. Which of the following gas posses the largest

internal energy :-

(1) 2 moles of He gas occuping 1000 L at 300K

(2) 56 kg of nitrogen at 107 pa and 300K

(3) 8 g of oxygen at 8 atm and 300 K

(4) 1000 mole of argan occuping 40000 L at 900K

72. The incorrect relationship according to Raoult's

law for two miscible liquid mixture is :-

(1) P
T
 = P°

A
 + (P°

B
 – P°

A
)X

B

(2) P
T
 = P '

A
 + P '

B

(3) P
T
 = P°

B
 + (P°

A
 – P°

B
)X

A

(4) P
T
 = P°

A
 + (P°

A
 – P°

B
)X

A

73. Above the inversion temperature µ (Joule

thomson coefficient) is:-

(1) Positive (2) Negative

(3) Decrease (4) None

74. Osmotic pressure of 30% solution of glucose

is 1.20 atm and that of 3.42% solution of cane

sugar is 2.5 atm. The osmotic pressure of the

mixture containing equal volumes of the two

solution will be :-

(1) 2.5 atm (2) 3.7 atm

(3) 1.85 atm (4) 1.3 atm

75. For a gaseous reaction of 300 K

H – E = –4.98 kJ assuming that R = 8.3 JK–1

mol–1, ng is :-

(1) 1 (2) 2 (3) –2 (4) 0

68. 2SO
2
 + O

2
  2SO

3
   SO

2
  O

2

4 25% O
2
 


(1) 6.5 (2) 7.0 (3) 8.0 (4) 2.0

69. 300 K 

1200 cal 

Kp Kc 

(1) 16.48 × 10–3 (2) 1.648 × 10–3

(3) 164.8 × 10–3 (4) 0.1648 × 10–3

70. X, Y, Z 1.8, 0.8

2.5 (

  :-

(1)  : X < Y < Z

(2)  : Z > X > Y

(3)   : X = Y = Z

(4)  : Y > X > Z

71. 
(1) 2 He 300 K 1000 L 


(2) 300 K 107 56 kg 
(3) 300 K 8 8 
(4) 1000 900 K 40000L 

72. 
   :-
(1) P

T
 = P°

A
 + (P°

B
 – P°

A
)X

B

(2) P
T
 = P '

A
 + P '

B

(3) P
T
 = P°

B
 + (P°

A
 – P°

B
)X

A

(4) P
T
 = P°

A
 + (P°

A
 – P°

B
)X

A

73. µ 

(1)  (2) 
(3)  (4) 

74. 30% 1.20 atm 
  3.42%   

2.5 atm 

:-

(1) 2.5 atm (2) 3.7 atm

(3) 1.85 atm (4) 1.3 atm

75. 300 K 
H – E = –4.98 kJ R = 8.3 JK–1 mol–1

ng 
(1) 1 (2) 2 (3) –2 (4) 0

       
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76. Two volatile liquids A and B forms ideal

solution. In the following graph QR will be

equal to :-

Q

P

S

R

A

V.P.

(X =1)B
(X =1)A Mole fraction

B

(1) QP + PS + SR (2) QP + QS

(3) QS + PS (4) QP + PR

77. The core charge on oxygen is equal to :-

(1) +2 (2) –2 (3) –6 (4) +6

78. A 0.2 molal aqueous solution of a weak acid (HX)

is 20%. The freezing point of this solution is

[(K
F
)water = –1.86 K Kg/mol]

(1) – 0.45°C (2) – 0.90°C

(3) –0.31°C (4) – 0.53°C

79. When the value of (n + ) is not more than 3

which of the following subshells is not possible

to exist ?

(1) 2s (2) 3s (3) 3p (4) 2p

80. Consider a binary mixture of volatile liquid.

If at X
A

 = 0.4 the vapour pressure of solution

is 580 torr. Then the mixture could

(P
A

0 = 300 torr, P
B

0 = 800 torr)

(1) CH
3
COCH

3 
– H

2
O

(2) C
2
H

5
OH + Cyclohexane

(3) C
6
H

6
 – C

6
H

5
CH

3

(4) nC
6
H

14
 – nC

7
H

16

81. Simultaneous determination of exact position

and momentum of an electron is :-

(1) Possible

(2) Impossible

(3) Sometimes possible sometimes impossible

(4) None of these

82. The maximum number of molecules is present in

(1) 5L of N
2
 gas at STP

(2) 0·5 g of H
2
 gas

(3) 10 g of O
2
 gas

(4) 15 L of H
2
 gas at STP

83. The energy of a radiation of wavelength
8000 Å is E1 and energy of a radiation of
wavelength 16000Å is E2. What is the relation
between these two :-
(1) E1 = 6E2 (2) E1 = 2E2

(3) E1 = E2 (4) E1 = 
2E

2

76. A  B 
QR  :-

Q

P

S

R

A

V.P.

(X =1)B
(X =1)A Mole fraction

B

(1) QP + PS + SR (2) QP + QS

(3) QS + PS (4) QP + PR

77. 
(1) +2 (2) –2 (3) –6 (4) +6

78. (HX) 0.2 20%

       :-
(K

f
  = –1.86 K kg/mol)

(1) – 0.45°C (2) – 0.90°C

(3) –0.31°C (4) – 0.53°C

79. (n + ) 3 

(1) 2s (2) 3s

(3) 3p (4) 2p

80. (P
A

0 = 300 torr, P
B

0 = 800 torr) 
    X

A
 = 0.4 

580 torr  
 :-
(1) CH

3
COCH

3 
– H

2
O

(2) C
2
H

5
OH + Cyclohexane

(3) C
6
H

6
 – C

6
H

5
CH

3

(4) nC
6
H

14
 – nC

7
H

16

81. 

(1) 
(2) 
(3) 
(4) 

82.  :-
(1) STP N

2 
5L 

(2) H
2
  0·5g 

(3) O
2 
 10 g 

(4) STP H
2 
15L 

83. 8000Å  E1  
16000Å E2 

(1) E1 = 6E2 (2) E1 = 2E2

(3) E1 = E2 (4) E1 = 2E

2
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84. In Haber process 30 litres of dihydrogen and

30 litres of dinitrogen were taken for reaction

which yielded only 50% of the expected product.

What will be the composition of gaseous mixture

under the aforesaid condition in the end :

(1) 20 litres ammonia, 20 litres nitrogen, 20

litres hydrogen

(2) 10 litres ammonia, 25 litres nitrogen, 15

litres hydrogen

(3) 20 litres ammonia, 10 litres nitrogen, 30

litres hydrogen

(4) 20 litres ammonia, 25 litres nitrogen, 15

litres hydrogen

85. If Ee, E, Ep represents the kinetic energies of

an electron,  alpha particle and a proton

respectively, each moving with same

de-Broglie wavelength then :

(1) Ee = E= Ep (2) Ee > E> Ep

(3) E> Ep > Ee (4) Ee > Ep > E
86. Which has maximum molecules :

(1) 7 gm N
2

(2) 2 gm H
2

(3) 16 gm NO
2

(4) 16 gm O
2

87. Which of the following will violates Aufbau

principle as well as pauli's exclusion principle:-

(1) 
1s 2s 2p

(2) 
1s 2s 2p

(3) 
1s 2s 2p

(4) None of these

88. One mole of CO
2
 contains

(1) 6.02 × 1023 atoms of C

(2) 6.02 × 1023 atoms of O

(3) 18.1 × 1023 molecules of CO
2

(4) 3 gram molecules of CO
2

89. Percentage of C, H and N are given as follows

C = 40%, H = 13.33%, N = 46.67% The

empirical formula will be –

(1) CH
2
N (2) C

2
H

4
N (3) CH

4
N (4) CH

3
N

90. In the reaction

4NH
3
(g) + 5O

2
(g) 4NO(g) + 6H

2
O() when

1 mole of ammonia and 1 mole of O
2
 are made

to react to completion.

(1) 1 mole of H
2
O is produced

(2) 1 mole of NO will be produced

(3) All the oxygen will be consumed

(4) All the ammonia will be consumed

84.  30 
30 
 50% 
 :-
(1) 20 , 20 , 20 


(2) 10 , 25 , 15 


(3) 20 , 10 , 30 


(4) 20 ,
 
 25  , 15 


85. 

Ee, E Ep 



(1) Ee = E= Ep (2) Ee > E> Ep

(3) E> Ep > Ee (4) Ee > Ep > E
86. 

(1) 7 gm N
2

(2) 2 gm H
2

(3) 16 gm NO
2

(4) 16 gm O
2

87. 


(1) 
1s 2s 2p

(2) 
1s 2s 2p

(3) 
1s 2s 2p

(4) 
88. CO

2
    

(1) 6.02 × 1023 C  
(2) 6.02 × 1023 O  
(3) 18.1 × 1023 CO

2 
 

(4) CO
2 

 3 
89. C, H N     

C = 40% , H = 13.33%,  N = 46.67 %  
  
(1) CH

2
N (2) C

2
H

4
N (3) CH

4
N (4) CH

3
N

90. 
4NH

3
(g) + 5O

2
(g) 4NO(g) + 6H

2
O)() 

1 1 O
2
 

  
(1) 1 H

2
O  

(2) 1 NO 
(3) 
(4) 
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91. The figures (a), (b) and (c) are of ?

(a) (b) (c)

(1) (a) – A B.G.A – Nostoc

(b) – A phycomycete–Aspergillus

(c) – A basidiomycete-Agaricus

(2) (a) – A green Alga – Nostoc

(b) – A deuteromycete–Aspergillus

(c) – A basidiomycete-Agaricus

(3) (a) – A red alga – Nostoc

(b) – An ascomycete–Aspergillus

(c) – A phycomycete-Agaricus

(4) (a) – A B.G.A – Nostoc

(b) – An ascomycete–Aspergillus

(c) – A basidiomycete-Agaricus

92. In a nucleoside unit N-glycosidic bond is

formed between :-

(1) Nitrogenous base and sugar

(2) Phosphoric acid and sugar

(3) Sugar and sugar

(4) Two nucleotide unit

93.

(X)

(a) TMV

(Y)

(b) Volvox

(Z)

(c) Fucus

Identify the (X), (Y) and (Z) in these figures

(1) X–DNA, Y–Sex organ, Z-Gemma cup

(2) X–RNA, Y–Daughter colony, Z-Air bladder

(3) X–DNA/RNA, Y–Oogonium, Z-Frond

(4) X–RNA, Y–Archegonium, Z-Stipe

91. (a), (b)  (c)  ?

(a) (b) (c)

(1) (a) – 
(b) – 
(c) – 

(2) (a) – 
(b) – 
(c) – 

(3) (a) – 
(b) – 
(c) – 

(4) (a) – 
(b) – 
(c) – 

92.  N- 
:-
(1) 
(2) 
(3) 
(4) 

93.

(X)

(a) TMV

(Y)

(b) Volvox

(Z)

(c) Fucus

(X), (Y)  (Z) 
(1) X–DNA, Y–, Z-
(2) X–RNA, Y–, Z- 
(3) X–DNA/RNA, Y–, Z-
(4) X–RNA, Y–, Z-
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94. Which of following is common in both DNA

and RNA  :-

(1) Pentose sugar

(2) Pyrimidine nitrogenous base

(3) Purine nitrogenous base

(4) 5 methyl uracil
95.

(A)

(B)

First of all identify the A and B then their

correct function and they are made for which

type of organisms. Which one of these options

is most correct with respect to identification,

uses and about the organisms :-

 

Identification Uses Made for

A
Herbarium For taxonomy 

of 

Plant species

B
Zoological 

park

For taxonomy 

of animals only

Animal 

species

A
Zoological 

park

For taxonomy 

of animals

Animal 

species

B
Herbarium For taxonomy 

of plants

Plant species

A

Herbarium For taxonomy 

of both plants 

and animals

For both 

plants and 

animals

B

Zoological 

park

For taxonomy 

of both plants 

and animals

For both 

plants and 

animals

A

Museum For taxonomy 

of both plants 

and animals

For both 

plants and 

animals

B

Zoological 

park

For taxonomy 

of both plants 

and animals

For both 

plants and 

animals

(4)

(1)

(2)

(3)

94.    DNA RNA   
 :-
(1) 
(2) 
(3) 
(4) 5 

95.

(A)

(B)

A  B 


:-

 

igpku mi;ksx fdu thoks a ds 

fy;s cuk;s 

tkrs gS

A
gcsZfj;e dsoy ikniksa dh oxhZdh 

ds fy,s

ikni tkfr;ksa 

ds fy,

B
izzk.kh miou dsoy tUrqvksa dh 

oxhZdh ds fy,s

tUrq tkfr;ksa 

ds fy, 

A
izzk.kh miou dsoy tUrqvksa dh 

oxhZdh ds fy,s

tUrq tkfr;ksa 

ds fy, 

B
gcsZfj;e dsoy ikniksa dh oxhZdh 

ds fy,s

ikni tkfr;ksa 

ds fy,

A
gcsZfj;e ikni o tUrq nksuksa dh 

oxhZdh ds fy,s

ikni o tUrq 

nksuksa ds fy,s

B
izzk.kh miou ikni o tUrq nksuksa dh 

oxhZdh ds fy,s

ikni o tUrq 

nksuksa ds fy,s

A
laxzgky; ikni o tUrq nksuksa dh 

oxhZdh ds fy,s

ikni o tUrq 

nksuksa ds fy,s

B
izzk.kh miou ikni o tUrq nksuksa dh 

oxhZdh ds fy,s

ikni o tUrq 

nksuksa ds fy,s

(4)

(1)

(2)

(3)
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96. Which nitrogen base of codon is less specific

for anticodon recognition :-

(1) First Nitrogen base (2) Second nitrogen base

(3) Third nitrogen base (4) Complete codon

97. Study the table given below and identify the

correct option which correctly includes the (A),

(B), (C) and (D)

   

Mainly inOccur Both in fresh water (i) – (A)
as/in marine water Fresh water

(ii) Cell wall Present Present (B) –

Photo-
chloro-. (iii) synthetic

pigments

S.N. Character Dinoflagellates Chrysophytes Euglenoids Slime moulds

a
No photo-

 & chloro-  & (C) synthetic 
phyll phyll pigmetns

Number of(iv) (D) No any Two –
flagella

c a b

Options

A B C D

Parasites Present chlorophyll chlorophyll(1)
 &  & 

Autotrophs Absent chlorophyll chlorophyll(2)
 &  & 

Saprotrophs Absent chlorophyll
Two(3) on decaying  & 

matter

Parasites Present chlorophyl(4)
in livings

a e a b

a e a b

a c

l No photosynthetic 
 & pigmentsa d

98. If 100 types of amino acids are participate in

protein synthesis and 12 types of N
2
 - Bases in

m-RNA then single codon of m-RNA

composed of how many nitrogen bases :-

(1) One (2) Two (3) Three (4) Four

99. Some structures are given below they are

produced during life cycle of different plant

groups :-

(i) Gemmae

(ii) Protonema

(iii) Prothallus

(iv)Haploid endosperm

(v) Archegonium

(vi) Pollen grains

(vii) Double fertilization

(viii) Fruit formation

(ix) Ovule formation

(x) Vascular tissues

What structures can be observed in the life

cycle of vascular cryptogames :-

(1) Gemmae, Prothallus, Archegonium

(2) Vascular tissue, Prothallus, Ovule formation

(3) Double fertilisation, Haploid endosperm,

Vascular tissue

(4) Prothallus, Archegonium, Vascular tissue

96. 
:-
(1)  (2) 
(3)  (4) 

97. 
 (A), (B), (C)  (D)  :-

  

(i) – (A)

(ii) (B) –

(iii)

S.N.     
  
 

   

  


  
  (C)   

(iv) (D) –

a c a b



   
  



 




A B C D

(1)
    

(2)
   

(3)   

(4)

a e a b

a e a b

a c

     
  

      
 

      


 
   a d

   
 

98. 100 
m-RNA 12 
m-RNA  
:-
(1)  (2)  (3)  (4) 

99. 
:-
(i) 
(ii) 
(iii) 
(iv) 
(v) 
(vi) 
(vii) 
(viii) 
(ix) 
(x) 

:-
(1) 
(2) 
(3) 
(4) 
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100. Which of the following is not a salient features

of the Double helix structure of DNA :-

(1) It is made of two polynucleotide chain,

where the back bone is constituted by sugar

- phosphate and the bases project inside

(2) The two chains have parallel polarity

(3) The bases in two strands are paired through

hydrogen bond forming base pair

(4) The two chains are coiled in a right handed

fashion

101. How many plants in the list given below are

the members of nonvascular embryophytes :-

Spirogyra,  Volvox,  Ficus,  Polysiphonia,

Polytrichum,  Sphagnum,  Marchantia,

Funaria, Selaginella, Equisetum.

(1) Six (2) Three

(3) Four (4) Five

102. Deoxyguanosine is a :-

(1) Nucleoside of RNA

(2) Nucleotide of DNA

(3) Nucleoside of DNA

(4) Nucleotide of RNA

103. Find the incorrect statements from the

following:-

(1) Growth, reproduction and consciousness

are unique features of living organisms

(2) Growth and reproduction are defining

characteristics of living organisms

(3) Metabolism, cellular organisation and

consciousness are defining characters of

livings.

(4) Living organisms are self replict ing,

evolving and self regulating.

104. Which of the following is not a nucleoside of RNA:-

(1) Cytidine (2) Uridine

(3) Guanosine (4) Deoxyguanosine

105. Which is a group of organisms in which

reproduction is synonymous with growth :-

(1) Amoeba, Bacteria and Unicellular Algae

(2) Algae, Fungi and Lichen

(3) Lower organisms

(4) Higher multicellular organisms

100. DNA 

:-

(1) 





(2) 

(3) 


(4) 
101. 

 :-
    


(1)  (2) 
(3)  (4) 

102. :-

(1) RNA 

(2) DNA 

(3) DNA 

(4) RNA 
103. :-

(1) 



(2) 



(3) 



(4)        



104. RNA  :-

(1)  (2) 

(3)  (4) 
105. :-

(1) 

(2) 

(3) 

(4) 

   
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106. Why both the strand are not copied during

transcription, because :-

(1) If both strands act as a template they would

code for RNA with different sequence

(2) The two RNA molecules if produced

simultaneously would be complementary to

each other, hence would form a double

stranded RNA

(3) They would code for RNA molecules with

same sequences

(4) Both (1) and (2) are correct

107. New organisms can be identified from :-

(1) Newly explored areas

(2) Old already explored areas

(3) Both (1) and (2)

(4) Only oceans

108. In eukaryote transfort of m-RNA from nucleus

to cytoplasm is occur through :-

(1) Simple diffusion (2) Active diffusion

(3) Nuclear pore (4) Nuclear membrane

109. What is nomenclature ?

(1) Naming of living organisms in latin

language

(2) Naming of particular organism by the same

name all over the world

(3) Naming of living organism in such a

manner that it can not cause any confusion

(4) Naming of living organisms in such a

manner that it becomes easy to pronunciate

110. In a transcription unit promoter is said to be

located towards :-

(1) 3' end of structural gene

(2) 5' end of structural gene

(3) 5' end of template stand

(4) 3' end of template stand

111. Find the correct statements from the followings

(A) Each rank or taxon, in fact represents a unit

of classification

(B) Every step in taxonomic hierarchy

represents a rank or category

(C) A taxonomic category is a part of ovarall

taxonomic hierarchy

(D) Taxonomic categories are not distinct

biological  entities, they are only

morphological aggregates

(1) A, B & D are correct

(2) A, C & D are correct

(3) A, B & C are correct

(4) A and B are correct

106. DNA 
:-
(1) 
RNA 

(2) RNA 
RNA 


(3) RNA 


(4) (1)  (2) 
107. :-

(1) 
(2) 
(3) (1)  (2) 
(4) 

108. m-RNA 
:-
(1)  (2)  
(3)  (4)  

109.  ?
(1) 
(2) 


(3) 


(4) 


110.  :-
(1) 3' 

(2) 5' 

(3) 5' 

(4) 3' 
111. 

(A) 


(B) 


(C) 


(D) 


(1) A, B & D  
(2) A, C & D  
(3) A, B & C  
(4) A and B 
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112. Which of following confers stability of the helical

structure of DNA in addition to H-bond:-

(1) N- Glycosidic acid

(2) The plane of one base pair stacks over the

other

(3) Phosphoester bond

(4) None of these

113. Taxonomical studies of all known organsims

have led to the development of common

categories such as kingdom, phylum (....(a)....)

or division (for palnts), class,.....(b)......family,

genus and species. In both plant and animal

kingdoms the.....(c)......is a lowest category :-

(1) a–for plants , b– species, c–order

(2) a–for animals , b– sub species, c–order

(3) a–for plants , b– sub species, c–species

(4) a–for animals , b– order, c–species

114. Which of the following generates approximately

uniform distance between the two strands of the

DNA helix :-

(1) Phosphate - sugar back bone

(2) Always a purine comes opposite to a

pyrimidine

(3) Hydrogen bond

(4) N - glycosidic bond

115. Study the given statements carefully and give

the answer :-

(A) A genus is a group of related species which

has more characters in common in

comparison to species of other genera

(B) Families are characterised on the basis of

both vegetative and reproductive features

of plants species.

(C) Felidae and canidae are the families of cat

and dog respectively

(D) To detemine relations in higher taxa is more

difficult in comparison to lower taxa.

How many statements are correct from them

(1) One (2) Two

(3) Three (4) Four

112. DNA 

:-

(1) N - 

(2) 

(3) 

(4) 

113. 
   (....(a)....)

( ),  .....(b)......
 .....(c)......
:-

(1) a–  , b– , c–

(2) a–  , b– , c–

(3) a– , b– , c–

(4) a–, b– , c–

114. 

 :-

(1) 

(2) 

(3) 

(4) N- 

115. 
:-

(A) 





(B)  



(C) 

(D) 





(1)  (2) 

(3)  (4) 

        
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116. Identify A B and C stages of meiosis in the

following figure:-

A B C

A B C

(1) Metaphase I Anaphase I Telophase I

(2) Prophase II Metaphase II Aanaphase II

(3) Metaphase II Anaphase II Telophase II

(4) Metaphase I Anaphase II Telophase I

117. "As we go lower from kingdom to species the

number of common characters goes on

decreasing"

According to fundamental concepts of

taxonomy the above lines are not correct, so

they can be corrected as :-

(1) As we go higher from species to kingdom,

the number of common characters goes on

increasing.

(2) As we go higher from species to kingdom,

the number of common characters goes on

decreasing

(3) As we go towards the species, the number

of similar characters goes on decreasing

(4) As we go towards the kingdom, the number

of similar characters goes on increasing

118. How many of the given statement are correct:

(a) Cells are metabolically inactive in quiescent

stage

(b) Sister chromatid separate during anaphase

I of meiosis

(c) Golgi, ER, nucleolus and nuclear envelope

are partially visible at the end of mitotic

prophase

(d) Growth of multicellular organism is due to

mitosis

(e) Anaphase stage is characterised by

centromere split

(f) During telophase chromosome cluster at

opposite pole and loose their identity as

discrete element

(1) 5 (2) 6 (3) 4 (4) 3

116. A, B 
C 

A B C

A B C

(1) Metaphase I Anaphase I Telophase I

(2) Prophase II Metaphase II Aanaphase II

(3) Metaphase II Anaphase II Telophase II

(4) Metaphase I Anaphase II Telophase I

117. "

"



:-

(1) 



(2) 



(3) 



(4) 


118. 

(a) 


(b) 


(c) 
 


(d) 


(e)     


(f)     



(1) 5 (2) 6 (3) 4 (4) 3
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119. Find the incorrect match

(A) Botanical gardens – Have collection of

  living plants

(B) Zoological parks – Have collection of

living animal

(C) Biological museum – Have collection of

   preserved animals

   only

(D) Taxonomical keys – Are used for

 identification of

 plants only

(1) A & B (2) B & C

(3) C & D (4) A & D

120. Identify the type of chromosome w.r.t.

centromere position :-

A B C

A B C

(1) Telocentric Acrocentric Sub meta

centric

(2) Acrocentric Sub meta Metacentric

centric

(3) Sub-meta Telocentric Acrocentric

centric

(4) Telocentric Acrocentric Metacentric

121. By taxonomic keys we can observe or analyse

the characters of not only one member but also

of the other related members because at a time

couplets are used in keys in which acceptance

of only one and rejection of the other character

is there. This practice in taxonomic keys prove

that :-

(1) In keys characters are used in pairs

(couplet)

(2) In keys two opposite options are used for

every member at a time

(3) Keys are generally analytical in nature

(4) Keys are able to explain every organism

119. 

(A)   



(B)   



(C)   



(D)   



(1) A & B (2) B & C

(3) C & D (4) A & D

120.     


A B C

A B C

(1) Telocentric Acrocentric Sub meta

centric

(2) Acrocentric Sub meta Metacentric

centric

(3) Sub-meta Telocentric Acrocentric

centric

(4) Telocentric Acrocentric Metacentric

121. 







:-
(1) 


(2) 


(3) 
(4) 

Time Management is Life Management
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122. Identify A, B and C in the figure :

C

A

B

A B C

(1) Thylakoid Granum Inner membrane

(2) Thylakoid Granum Stroma lamellae

(3) Granum Thylakoid Outer membrane

(4) Thylakoid Stroma Stromas

lamellae

123. An order can be best defined as :-

(1) A group of related species and genera of

differant taxa

(2) A group of related families which exhibit

a few similar characters

(3) A group of related classes which exhibit a

few similarites

(4) An assemblage of genera related to different

classes

124. Ribosomes are the granular structure first

observed under the electron microscope as

dense particles by :-

(1) Robert brown (2) Flemming

(3) George palada (4) Camilo golgi

125. In potato, brinjal, makoi, lion and leopard

hormany species, genera and families are there

  Species Genus Family

(1) Five Three Two

(2) Four Two Three

(3) Five Two Two

(4) Four Three Two

126. (A) Volume of the cell in both prokaryotic and

eukaryotic organisms is occupied by a

semi fluid matrix

(B) It is main arena of cellular activities

These statement (A & B) are true for :

(1) Cell wall (2) Cytoplasm

(3) Nucleoplasm (4) Inclusion body

122. A,B C 

C

A

B

A B C

(1) Thylakoid Granum Inner membrane

(2) Thylakoid Granum Stroma lamellae

(3) Granum Thylakoid Outer membrane

(4) Thylakoid Stroma Stromas

lamellae

123. :-

(1) 

(2) 



(3) 



(4) 

124. 



(1)  (2) 

(3)  (4)  

125. (lion) (Leopard) 

  

(1)   
(2)   
(3)   
(4)   

126. (A) 


(B)   



(1)   (2) 
(3)  (4) 
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127. The relation of solanaceae and

convolvulaceaes with polymoniales is similar

to the relation occuring in :-

(1) Felidae and canidae with carnivora

(2) Primata and carnivora with mammalia

(3) Amphibia and eptika with chordata

(4) Solanum and petunia with solanaceae

128. The endomembrane system include :-

(1) Mitochondria, chloroplast and peroxysome

(2) Lysosome, vacuole, ER and cell membrane

(3) ER, Golgi bodies, Lysosome, vacuol

(4) ER, Golgi bodies, Sphaerosomes and

mitochondria

129. Skeleton of animals are collected in :-

(1) Zoological parks (2) Zoos

(3) Museum (4) Taxonomic keys

130. Consider the following statement and select

correct option w.r.t cell organelles :-

(a) Glycogen metabolism

(b) Gluconeogenesis

(c) Glycolate metabolism

(d) Sphaerosome formation

(e) Steroidal hormone synthesis

(f) Synthesis of lysosomal enzyme

(1) SER-a d & e

(2) RER - b c & f

(3) Peroxysome - c e & f

(4) Gly-oxysome - b c & e

131. Instinctive classification of organisms have

been started from :-

(1) From the period of theophrastus

(2) From the period of Aristotle

(3) Since the dawn of civilization

(4) From the period of Linnaeus

132. A special membranous structure formed by the

extension of plasmamembrane in bacteria is

concerned with all except :-

(1) Help in cell wall formation

(2) DNA replication

(3) Contain photosynthetic pigment

(4) Help in respiration

127. 

          :-

(1) 

(2) 

(3) 

(4) 

128. 

(1) Mitochondria, chloroplast and peroxysome

(2) Lysosome, vacuole, ER and cell membrane

(3) ER, Golgi bodies, Lysosome, vacuol

(4) ER, Golgi bodies, Sphaerosomes and

mitochondria

129. :-

(1)  (2) 

(3)  (4) 

130. 

(a) 

(b) 

(c) 

(d) 

(e) 

(f) 

(1) SER-a d & e

(2) RER - b c & f

(3) Peroxysome - c e & f

(4) Gly-oxysome - b c & e

131. :-

(1) 

(2) 

(3) 

(4) 

132. 



(1) 

(2) DNA 

(3) 

(4) 
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133. Whittaker gave the 5 kingdom classification of

organisms. The main criteria used by him are

cell structure, thallus organisation, mode of

nutrition and two more. What were these two?

(1) Complexity of cell and complexity of

organisms

(2) Mode of reproduction and mode of feeding

(3) Cell type and body organisation

(4) Reproduction and phylogenetic relationships

134. Select the pair of structure which are common

in both prokaryotes and eukaryotes cells :-

(1) Cell membrane and Mitochondria

(2) Ribosome and lysosome

(3) Microbodies and sap vacuole

(4) Cell membrane and Ribosome

135. In earlier classification system which

organisms were included under "Plants" :-

(1) Bacteria, BGA, Fungi, Bryophyte, Ferns

and Spermatophytes

(2) Bacteria, protozoa, Green algae, Porifera &

Moss

(3) Green algae, Moss, Bryophytes, Protozoa

& Porifera

(4) Moss, Ferns, Gymnosperms, Protozoa and

Porifera

136. Match the followings & choose correct option:

Coloumn-A Column-B

(a) Aleurone layer (i)  without

 fertilization

(b) Parthenocarpic (ii) Nutrition

fruit

(c) Ovule (iii) Double

fertilization

(d) Endosperm (iv) seeds

(1) A-i, B-ii, C-iii, D-iv

(2) A-ii, B-i, C-iv, D-iii

(3) A-iv, B-ii, C-i, D-iii

(4) A-ii, B-iv, C-i, D-iii

133. 


?

(1) 

(2) 

(3) 

(4) 

134.  


(1)

(2)

(3) 

(4)

135. 

:-

(1) 

(2) 

(3) 

(4) 

136. 

Coloumn-A Column-B

(a)  (i) 

(b)  (ii) 

(c)  (iii) 

(d)  (iv) 

(1) A-i, B-ii, C-iii, D-iv

(2) A-ii, B-i, C-iv, D-iii

(3) A-iv, B-ii, C-i, D-iii

(4) A-ii, B-iv, C-i, D-iii
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137. The classification system have undergone

several changes over a period of time, why ?

(1) Because the criteria for classification

changed, now they are based to trace the

developmental history

(2) Because over time an attempt has been

made to evolve such classification which

are based on phylogeny

(3) Because over time an attempt has been made

to evolve such classification system which

are based only on human evolution mainly

(4) Because over time an attempt has been made

to evolve such system which are based on

histological and cytological studies

138. The plants which are used to extract the blue

dye belongs to which of following family ?

(1) Solanaceae (2) Fabaceae

(3) Liliaceae (4) Poaceae

139. Study the following statements and give the

answer :-

(A) Bacteria are sole members of the kingdom

monera

(B) Bacteria are most abundent micro-organisms

(C) A handful of soil contain hundreds of bacteria

(D) Autotrophic bacteria are most abndant in nature

(E) As the bacteria are prokaryotes they show

very little metabolic diversity

Select the most appropriate option from the

followings :-

(1) A, B & E are correct and C & D are incorrect

statements

(2) A,C,E are correct and B & D are incorrect

statements

(3) A, B, C are correct and D & E are incorrect

statement

(4) A, D, E are correct and B & C are incorrect

statements

140. The mature seeds of plants such as gram & peas

possess no endosperm because :-

(1) These plants are not angiosperms

(2) There is no double fertilization in them

(3) Endosperm gets used up by the developing

embryo during seed development

(4) All of above

137. 
 ?

(1) 



(2) 



(3) 





(4) 





138. 

(1)  (2) 
(3)  (4) 

139. :-

(A)

(B)       



(C)         

(D)        

(E)           

    

:-

(1) A, B  E C  D 

(2) A,C E  B  D 

(3) A, B  C D  E 

(4) A, D  E  B  C 

140. 

(1) 
(2) 
(3) 


(4) 
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141. Find the group of bacteria in which all are

nitrogen fixing :-

(1) Nitrosomonas, Streptococus, Lactobacillus

(2) Rhizobium, Azotobacter, Nostoc

(3) Nitrobacter, Streptobacillus, Lactobacillus

(4) Clostridium, Rhizobium, Lactobacillus

142. Which one of the following histogen is present

in the monocot roots, but not in the shoots ?

(1) Calyptrogen (2) Dermatogen

(3) Periblem (4) Plerome

143. Study the following statements and give the

answer :-

(A) Bacteria reproduce mainly by fission

(B) Bacteria produce spores in favourable

conditions

(C) The type of gene transfer in bacteria is true

sexual reproduction

(D) Citrus canker is  a disease caused by

bacteria

(1) A & B are correct, C & D are incorrect

(2) C & D are correct, A & B are incorrect

(3) A & D are correct, B & C are incorrect

(4) A & C are corect, B & D are incorrect

144. In Zea mays root, the primary xylem is called

exarch. Because ?

(1) the protoxylem lies towards the centre and

the metaxylem lies towards the periphery

(2) the protoxylem lies towards the periphery

and the metaxylem lies towards the centre

(3) both the protoxylem and the metaxylem lie

towards the centre

(4) the protoxylem is surrounded by the

metaxylem.

145. Find the incorrect statement about fungi :-

(1) They show a great diversity in morphology

and habitats

(2) Fungi are cosmopolitan and occur in air,

water, soil and as parasites also

(3) They prefer to grow in cold and dry places

(4) With the exception of yeasts, fungi are

filamentous

146. Which of the following are enucleated cell:-

(a) Vessel element

(b) mature sieve tube element

(c) Companion cell

(d) Cork cambiam cell

(1) Only a, c (2) Only a & b

(3) Only c & d (4) Only a & d

141.    
 :-
(1) 
(2) 
(3) 
(4) 

142.  
?
(1)  (2) 
(3)  (4) 

143. :-
(A) 

(B) 



(C) 



(D) 

(1) A  B  , C  D 

(2) C  D  , A  B 

(3) A  D  , B  C 

(4) A  C  , B  D 
144. 



(1)    



(2) 



(3) 

(4) 
145. :-

(1) 

(2) 



(3) 


(4)  

146. 
(a) 
(b) 
(c) 
(d) 
(1)  a, c (2)  a & b

(3)  c & d (4)  a & d
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147. Male sex organ is stamen and the female sex

organ is carpel or pistil in these plants. They

produce female gametophyte made of egg

apparatus, antipodal cells and polar nuclei and

male gametophyte made of tube cell and two

male gametes. Which of the following is also

a very important unique event occuring in these

plants :-

(1) Formation of haploid endosperm for

providing nourishment to developing

embryo

(2) Double fertilisation and triple fusion

(3) Presence of vascular tissue and formation

of seeds

(4) Both (2) & (3)

148. Examine the figure (A–E) given below and select

the right option out of 1–4, in which all the five

structure A, B, C, D & E are identified correctly.

A B

C D E

A B C D E

(1) Inter Vacuole Lumen Perforated Simple

cellular  end wall pits

space

(2) Inter Vacuole Lumen Bordered Simple

cellular pits pits

space

(3) Vacuole Proto- Pit simple Bordered

plasm cavity pits pits

(4) Cell Thickened Pith Lumen Perforated

wall corners end wall

147. 











:-

(1) 



(2) 

(3) 

(4) (2) (3) 
148. (A-E) 1 4 

A, B, C, D E


A B

C D E

A B C D E
(1)    
       
  

(2)      
    


(3)    
    

(4)    
  


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149. Production of two types of spores micro (small)

and macro (large) spores which give rise to

male and female gametophytes respectively.

This phenomenon is called as....(a)......and occurs

in the plants....(b)....,...(c)....and....(d).... In the

given paragraph what are a, b, c & d ?

(1) (a) – Heterospory (b) – Bryophyta

(c) – Pteridophyta (d) – Gymnosperm

(2) (a) – Seed habit (b) – Pteridophyta

(c) – Gymnosperm (d) – Angiosperm

(3) (a) – Heterosporous (b) – Pteridophyta

condition

(c) – Gymnosperm (d) – Angiosperm

(4) (a) – Seed habit (b) – Bryophyta

(c) – Pteridophyta (d) – Gymnosperm

150. Identify the component labelled A, B, C and D

in the diagram below, from the list (i) to (viii).

Select their correct combination.

(B)

(D)

(C)

(A)

(i) Epidermis

(ii) Resin canal

(iii) Hypodermis

(iv) Sclerenchymatous Pericycle

(v) Metaxylem

(vi)Protoxylem

(vii) Pith

(viii) Intra fascicular cambium

The correct components are :-

(1) A – ii, B – iii, C – vi, D – viii

(2) A – vii, B – iv, C – vi, D – viii

(3) A – iii, B – v, C – vi, D – vii

(4) A – iii, B – i, C – v, D – vii

149. 


 . . . .(a)... . . .  . . . .(b). .. . ,

...(c)........(d)...... 

a, b, c  d ?

(1) (a) –  (b) – 

(c) –  (d) – 
(2) (a) –  (b) – 

(c) –  (d) – 
(3) (a) –  (b) – 


(c) –  (d) – 

(4) (a) –  (b) – 
(c) –  (d) – 

150. A, B, C  D 
(i)  (viii) 


(B)

(D)

(C)

(A)

(i) 
(ii) 
(iii) 
(iv) 
(v) 
(vi) 
(vii) 
(viii) 
:-
(1) A – ii, B – iii, C – vi, D – viii
(2) A – vii, B – iv, C – vi, D – viii
(3) A – iii, B – v, C – vi, D – vii
(4) A – iii, B – i, C – v, D – vii
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151. (a) Cellular level body

(b) mostly marine

(c) Internal fertilisation

(d) Indirect development

(e) Free living planula larva is present.

In the above given statements which do not suit

to proifera.

(1) a, b, e (2) b, e (3) d, e (4) a, d, e

152. In the given figure, which of the following

statements are true about the cells of labelled

region 'A'.

'A'

Transverse section of dicotyledonal stem

through lenticel

(a) Parenchymatous

(b) Suberized

(c) Non-suberized

(d) Thin walled, colourless rounded

(1) a, b, & d (2) a, c, & d

(3) b, c, d (4) only d

153. In which phylum blood circulation is less

efficient :-

(1) Athropoda (2) Echinodermata

(3) Hemichordata (4) All

154. Select correctly matched pairs :-

(1) Dorsiventral - Two distinct patches of

leaf parenchyma are present

above & below of each

large vascular bundle

(2) Isobilateral - Two distinct patches of

leaf sclerenchyma are present

above and below of each

large vascular bundle

(3) Zea mays - Each vascular bundle is

stem surrounded by

sclerenchymatous bundle

sheath

(4) All the above

151. (a) 
(b) 
(c) 
(d)  
(e) 


(1) a, b, e (2) b, e (3) d, e (4) a, d, e

152. 'A' 


'A'

     
(a) 
(b) 
(c)
(d) 
(1) a, b, & d (2) a, c, & d

(3) b, c, d (4) only d

153. 

(1)  (2) 

(3)  (4) 

154. 

(1)  - 





(2)  - 





(3)  - 



(4) 
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155. Select the animals having schizocoelomic

condition:-

(1) Echinococcus, Earthworm, octopus

(2) Taenia, fasciola, Asterias

(3) Wuchreria, Nereis, sepia

(4) Hirudianaria, Dentalium, locusta

156. Select false statement ?

(1) In dicotyledonae roots, pith is small or

inconspicuous or absent

(2) Dicotyledonae roots are usually diarch to

tetrarch, rarely hexarch

(3) In monocotyledonae roots, pith is large &

well developed

(4) All monocotyledonae roots are triarch

157. Blind worm is related with :-

(1) Platyhelminthes

(2) Aschelminthes

(3) Annelida

(4) Chordata

158. Bidder's canal in frog is found in :-

(1) Cloaca (2) Testes

(3) Kidney (4) Urinary bladder

159. Select the characters which do not suit to

cyclostomata :-

(A) Fresh water habitat

(B) Catadromous in nature

(C) Respiration by 6-15 pairs of cills

(D) Direct development

(E) Scales are absent

(1) B, C, D (2) A,C,E

(3) B,D,E (4) A,B,D

160. In cockroach, the sperms are stored in the

seminal vesicles and are glued together in the

form of bundles called ?

(1) Spermatogonia

(2) Spermatophores

(3) Mushroom gland

(4) Gonapophysis

155. 

(1) Echinococcus, Earthworm, octopus

(2) Taenia, fasciola, Asterias

(3) Wuchreria, Nereis, sepia

(4) Hirudinaria, Dentalium, locusta

156. 

(1) 



(2) 


(3)      


(4) 

157. 

(1) Platyhelminthes

(2) Aschelminthes

(3) Annelida

(4) Chordata

158.  :-

(1)  (2) 

(3)  (4) 

159. 

(A) 

(B) 

(C) 6-15 

(D) 

(E) 

(1) B, C, D (2) A,C,E

(3) B,D,E (4) A,B,D

160.          
              
  ?

(1) 

(2) 

(3) 

(4) 
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161. In which group of fishes body is covered with

placoid scales :-

(1) Myxine, Torped, pterophyllum clarias

(2) Petromyzon, Trygon, clarias catla

(3) Lamprey, pristis, Exocoelus, labeo

(4) Scoliodon, Carcharodon, sawfish, electric ray

162. The body wall of the earthworm is covered

externally by a thin non-cellular cuticle below

which is the epidermis, two muscle layers

..... . . .(a).... . .  and an inner most coelomic

epithelium. The epidermis is mode of a single

layer of ..........(b).......... cells :-

(1) (a) - Circular and longitudinal

 (b) - Columnar epithelial

(2) (a) - Radial and circular

 (b) - Simple squamous

(3) (a) - Radial and longitudinal

 (b) - Cuboidal

(4) (a) - Flat and obligue

 (b) - Microvilli

163. Select the phylums having only marine

animals:-

(1) Porifera, ctenophora, coelenterata, Mollusca

(2) Hemichrodata, coelenterata, Arthopoda,

Echinodermata

(3) Hemichordata, protochordata, porifera,

coelenterata

(4) Echinodermata, urochordata, ctenophora,

Hemichordata

164. In Earthworm numerons minute pores

called.......... open on the surface of the body:-

(1) Clitellum (2) Peristomium

(3) Spermatheca (4) Nephridiopores

165. Water vascular system of Echinodermates is

responsible for all activities except:-

(1) Locomotion

(2) Food capture

(3) Respiration

(4) Excretion

161. 


(1) Myxine, Torped, pterophyllum clarias

(2) Petromyzon, Trygon, clarias catla

(3) Lamprey, pristis, Exocoelus, labeo

(4) Scoliodon, carcharodon, sawfish, electric ray

162. 
  
. . . . . . . .(a)... . . .            
             
..........(b).......... 
 :-

(1) (a) - 

 (b) - 

(2) (a) - 

 (b) - 

(3) (a) - 

 (b) - 

(4) (a) - 

 (b) - 

163. 

(1) Porifera, ctenophora, coelenterata, Mollusca

(2) Hemichrodata, coelenterata, Arthopoda,

Echinodermata

(3) Hemichordata, protochordata, porifera,

coelenterata

(4) Echinodermata, urochordata, ctenophora,

Hemichordata

164.        ..........   
     :-

(1)  (2) 

(3)  (4) 

165.      


(1) 

(2) 

(3) 

(4) 
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166. The four sketches (A, B, C and D) given below

represent four different types of animal tissues.

Which one of these is correct identified in the

options given along with its correct location

and function ?

(A)

  

(B)

  

(C)

    

(D)

  

Tissue Location Function

(1) ( A )

Simple 

squamas 

epithelium

Airsacs of 

lungs

Diffusion 

Boundary

(2) ( B )
Unicellular 

gland

Alimentory 

canal
Secretion

(3) ( C ) Bone Trachea Support

(4) ( D )
Compound 

epithelium
Skin Protection

167. Select the correct matching set of animal with

its larva:

(1) Aurelia-Planula

(2) Leucosolenia-Amphiblastula

(3) Starfish-Bipinnaria

(4) Musca caterpiller

168. How many of the following structure are an

examples of connective tissue :-

Cartilage, Bone, Tendon, Ligament, Cardiac

muscle, Smooth muscle, Neuron and Glisson's

capsule

(1) Three (2) Four (3) Five (4) Six

166.      (A, B, C  D)  
         
           
          
  ?

(A)

  

(B)

  

(C)

    

(D)

mÙkd
ik;s tkus 

dk LFkku
dk;Z

(1) ( A )
ljy 'kYdh 

midyk

QsaQM+ks ds 

ok;q dks"k
folj.k lhek

(2) ( B )
,d dksf'kdh; 

xzafFk
vkgkj uky L=ko.k

(3) ( C ) vfLFk  'okl uyh lkgkjk nsuk

(4) ( D ) la;qDr midyk Ropk j{kk djuk

167. 

(1) Aurelia-Planula

(2) Leucosolenia-Amphiblastula

(3) Starfish-Bipinnaria

(4) Musca caterpiller

168. 
 :-
, , , , , , 

(1)  (2) 
(3)  (4) 
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169. Which animal has been placed in wrong Habitat :-

(1) Hydra-freshwater
(2) Spongilla-fresh water

(3) Pennatula-sea water
(4) Penguin-Aerial mode

170. Erythroblastosis faetalis due to :-
(1) Rh –ve foetus and Rh –ve mother

(2) Rh –ve foetus and Rh +ve mother
(3) Rh +ve foetus and Rh +ve mother

(4) Rh +ve foetus and Rh –ve mother
171. Although a diverse group, all cnidarians are

characterised by :-
(1) A gastrovascular cavity

(2) An alternation between a medusa & polyp stage
(3) Some degree of cephalisation

(4) Muscle tissue of mesodermal origein
172. Mast cells secrete :-

a - Histamine b - Serotonin  c - Heparin
(1) only a (2) only a and b

(3) only c (4) all a, b and c
173. Which animal is triploblastic with tube within

tube body plan and embryonic blastopore
forms mouth.

(1) Meandrina (2) Leucosolenia
(3) Wuchreria (4) Physalia

174. Read the following (A-D) statements :-
A - It is composed of single layer of tall and

slender cells
B - Their nuclei are located at the base

C - Free surface may have microvilli
D - They are found in the walls of Blood vessels

and air sac of lungs
How many of the above statements are

incorrect  for simple columnar epithelium
(1) Four (2) Three (3) Two (4) One

175. The members of phylum Aschelminthes are :-
(1) Free living

(2) Parasite
(3) Free living & Parasite both

(4) Mostly free living & some endoparasite
176. Which of the following is correct match for

blood groups and donor compatibility :-

Blood 

Group

Antigens 

on RBCs

Antibodies 

in plasma

Donor's 

group

(1) A A anti-A A, AB

(2) B B anti-B B, AB

(3) AB A,B anti-A,B AB, A, B, O

(4) O nil anti-A,B O

169. 
(1) Hydra-freshwater
(2) Spongilla-fresh water

(3) Pennatula-sea water
(4) Penguin-Aerial mode

170. :-
(1) Rh –ve   Rh –ve 
(2) Rh –ve   Rh +ve 
(3) Rh +ve   Rh +ve 
(4) Rh +ve   Rh –ve 

171. 

(1) 
(2) 
(3) 
(4) Muscle tissue of mesodermal origein

172.  :-
a -  b -   c - 
(1)  a (2)  a  b
(3)  c (4) a, b  c 

173. 



(1) Meandrina (2) Leucosolenia

(3) Wuchreria (4) Physalia

174. (A-D) :-
A - 
 

B - 
C - 
D - 




(1)  (2)  (3)  (4) 

175. 
(1) 
(2) 
(3) 
(4) 

176. 
:-

jDr 

lewg

yky :f/kj 

df.kdkvksa 

ij izfrtu

IykTek esa 

izfrj{kh 

¼ ,afVcksMht½

jDrnkrk 

lewg

(1) A A ,afV-A A, AB

(2) B B ,afV-B B, AB

(3) AB A,B ,afV-A,B AB, A, B, O

(4) O vuqifLFkr ,afV-A,B O
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177. Ctenophores resemble with coelenterates in all

respect except :-

(1) Mode of digestion

(2) Types of Reproduction

(3) Germinal layer condition

(4) Development

178. (A) (B) 

(C) 

(D) 

Identify the above given animal.

 

A B C D

(1) Adamsia Brachiostoma Dantalium Cockroach

(2) Aurelia Saccoglossus Antedon Scorpian

(3) Pleurobrachia Ascidia Ophiura Locust

(4) Ctenoplana Salpa Asterias Prawn

177. 

(1) 
(2) 
(3) 
(4) 

178. (A) (B) 

(C) 

(D) 

:-

A B C D

(1) Adamsia Brachiostoma Dantalium Cockroach

(2) Aurelia Saccoglossus Antedon Scorpian

(3) Pleurobrachia Ascidia Ophiura Locust

(4) Ctenoplana Salpa Asterias Prawn
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179. 
(A) 
(B) 
(C) 
(D) 
(E) 


(1) A, C, D (2) A, C, E

(3) A, B, E (4) C, D, E

180. 
(1)  (2) 
(3)  (4) 

179. Select the incorrect  statement regarding

mollusca:-

(A) Aquatic animals

(B) Organ system level body

(C) Body contains head, trunk and foot

(D) Gills are related with body cavity

(E) Usually dioecious and oviparous with

indirect development

(1) A, C, D (2) A, C, E

(3) A, B, E (4) C, D, E

180. Which character is true for adamsia :-

(1) Polyp stage (2) Medusa stage

(3) Meta genesis (4) All
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